McCall, Betsy
Math 1050, Exam #4, Spring 2014

with decimals, oris a word problem,
help Organize the data (this is worth
indicate that directly on the test pap
work directly on the test,

a. Perform the indicateqd Operations (be careful not to confuse addition with multiplication and
vice versa) ang simplify the result. (6 points)
b. State the type polynomia| it is; monomial, binomial, trinomial, or polynomia) (1 point)
C. State the degree of each polynomia| (1 point)
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vi. (3x2 —1)(3x%2 + 1) '
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vii. b+ D0 —i (b +3) [Hint: Do two of them, and then multiply the result by the third.]
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2. Simplify the expressions. Your final answers should have only positive exponents. (6 points each)
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3. Divide. You may need to use long division. If there is a remaij
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4. Simplify and write i

b x 16” =

4.8x1073
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n scientific notation. Yo
you must show work to earn full cre

a. (4x107)(2.5x10)
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5. Write 0.0000000065 in scientiﬁq notation. (4 points)
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6. Write an algebraic expression for the area of the given shape. Simplify as much as possible. (10 points)
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